10

Ot

E (kV / cm)

-10

Time (a.u.)

= 10 kV/cm
m—-10 kV/cm

0.734  0.736 _ 0.738  0.74
H,||[100](A™1)

0.734 0.736  0.738

H,||[100](A~1)

0.74 0.742



H,||[110](103 A1)

H,||[110](103 A1)

0.423 0.424 0.425 0.426 0.427 0.428
H,||[111](A™1)

Time (a.u.)

(d) | [— 16 kV/cml
=—-10 kV/cm

0.423 0.424 0.425 0.426 0.427 0.428
H,||[111](A™1)



H,[][001)(10-47")

H,[][001)(10- A7)

0.547 0.548 0.549 0.55
H,||[120](A™1)

0.551 0.552

Time (a.u.)

& &
» oo

i
N

Intensity (a.u.)

0.2

— 10 kV/em |
—-10 kV/em

0.547 0.548 0.549 0.55 0.551 0.552
H,||[120](A™1)




H,||[001](103 A1)

H,[][001)(10- A7)

0.692

0.694  0.696
H,||[110](A™1)

0.698

E (kV / cm)

-10

10

Ot

-]

oy

Time (a.u.)

= 10 kV/cm
m—-10 kV/cm

0.692

0.694  0.696
H,||[110](A™1)

0.698




H,[|[101)(10-47")

H,[|[101)(10- A7)

0.596

0598 0.6
H,||[121](A™1)

0.602

E (kV / cm)

10

Ot

-]

oy

-10

Time (a.u.)

= 10 kV/cm
m—-10 kV/cm

0.598 0.6 0.602 0.604

H,||[121)(A™1)



10

E (kV / cm)

Time (a.u.)

1y (d) e 1IO kV/ecm
=—-10 kV/cm

(a.u.)
o o
5 5

Intensity
o
S

0.2

0.598 0.6 0.602 0.604 0.598 0.6 0.602 0.604

H,||[211](A™) H,||[211)(A7Y)



Time (a.u.)

= 10 kV/cm
m—-10 kV/cm

0.774 0.776 0.778 0.78  0.782 0.774 0.776 0.778 0.78 0.782

H,||[301)(A™1) H,||[301)(A™1)



